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AMP2EIE AR SEMR (£ 7T) 14 26 3 4%
HARIE O RIERE 4,721 6,498 8,332 10,225
FLIFEEH 4,721 4,721 4,721 4,721
F2FEEEH 1,777 1,777 1,777
FEIFEEH 1,834 1,834
BIEEER 1,893
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AMf2_1:100,000*3%+(97,000*1.05)*1.69%=3,000+1,721=4,721
AMf2_2:((97,000*1.05)-1,721)*1.05*1.69%=100,129%1.05*1.69%=1,777
AMf2_3:((100,129*1.05)-1,777)*1.05*1.69%=103,358*1.05*1.69%=1,834
AMf2_4:(103,358*1.05-1,834)*1.05*1.69%=106,692*1.05*1.69%=1,893
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PABOZERER 5,394 6,850 8,370 9,287
FI1FEEHR 5,394 2,394 2,394 2,394
F2FEEEH 4,456 2,456 2,456
FIFEEH 3,520 2,520
FAFEEH 1,917
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BMf2_1.(100,000*1.05)*2.28%+100,000*3%(CDSC) 2,394+3,000=5,394
BMf2_2:((100,000*1.05)-2,394)*1.05*2.28%+100,000*2%(CDSC)=102,606*1.05*2.28%+100,000*2%=2,456+2,000=4,456
BMf2_3:((102,606*1.05)-2,456)*1.05*2.28%+100,000* 1%(CDSC)=105,280*1.05*2.28%+100,000*1%=2,520+1,000=3,520
BMf2_4:((105,280*1.05)-2,520)*1.05*1.69%=108,024*1.05*1.69%=1,917
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